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STAT 101

NAME: __________________


NOTE: THIS IS A GRADED ASSIGNMENT: TUTORS OR ACCESSIBILITY RESOURCES PERSONNEL SHOULD NOT ASSIST IN ITS COMPLETION.

CLASS ASSIGNMENT #1 [10 points]:
· COMPLETE YOUR ASSIGNED PROBLEMS ON THIS SHEET.

· THIS ASSIGNMENT IS DUE AT CLASS TIME TUESDAY.

· Problem point values and point credit distributions are included in brackets [ ]. 

· Please be thorough and neat in the presentation of your responses as they must fit within the space provided.

· General Grading: -.5 for first error; -1 to -2 for multiple errors; 0 minimal effort/not attempted/incorrect.
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If your surname (last name) begins with the letter:

“A” through “H,” complete part “A)” of problems 2 through 4.
“I” through “Z,” complete part “B)” of problems 2 through 4.
Problem 1 [2]: (everyone answers this item; show calculations leading to estimated population)
Aging Population [3; see general grading; answer must be within +/- .5% of actual estimate]: It is predicted that there will be 88,547,000 elderly individuals (65 and over) in the U.S. in 2050 and that they will represent 20.2% of the entire population.  What will be the estimated U.S. population?

Problem 2 [2]: (place answers to your assigned item A) or B) below)
A) Height of CEO’s [2; .5/item]: An economist suspects that chief executive officers of American companies tend to be taller than the national average height of 69 inches, so she takes a random sample of 100 CEO’s and records their heights. [WSed3p7]
B) Marriage [2; .5/item]: A psychologist shows a videotaped interview of married couples to a sample of 150 marriage counselors.  Each counselor is asked to predict whether the couple will still be married five years later.  The psychologist wants to test whether marriage counselors make the correct prediction more than half the time.  
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Place Answers for problem 2A or 2B below:

What/who are the observational units? _________________

Identify the variable of interest (OBJECTIVE variable): __________________


Circle characteristics:  
[ Qual.  or   Quant.]         [ Discrete    Continuous   or   N/A ]         [ Nominal   Ordinal   Interval   Ratio ]         
Problem 3 [3]: Interpreting Data
The following two tables are from an environmental sustainability survey conducted in selected Dept. of Physical Education courses at SUCO during 2013.  Table A is part 3A), Table B is part 3B) for responses. 



Place Answers for problem 3A or 3B below:

What/who are the observational units [1]? _________________

Identify the variable of interest (OBJECTIVE variable) [.5]: __________________


Circle characteristics [1; NEED ALL THREE CORRECT FOR CREDIT]:  

Qual.  or   Quant.          Discrete    Continuous   or   N/A          Nominal   Ordinal   Interval   Ratio         
Given the information provided, what type of sampling is likely to have occurred [.5]? ___________________
Problem 4 [3]: Sampling

Stratified Sampling: Include a population table with a title, column headings for frequency of occurrence and relative frequency, the calculation process used to obtain the sample; AND the resulting sample in a table format as noted for the population table.

A) Hotels [3; 1/problem section]: A random sample of 80 hotels is to be taken from a population consisting of 3,500 hotels.  The hotels have been separated into four strata: Five Star properties, consisting of 600 units; Four Star Properties, consisting of 1,800 units; Three Star Properties, consisting of 900 units; and Unacceptable Properties, consisting of 200 units.  Using proportional allocation, how many hotels will be selected from each property type?

B) Thanksgiving Past [3; 1/problem section]: This past fall semester the college elected to have the Thanksgiving break start on Wednesday rather than take a full week off.  To determine the opinion of students regarding this holiday break time frame, the Student Association proposed to survey 450 students.  To do so it was determined that the student body should be stratified into four groups: 1) Campus Residents (n = 3200); 2) Off-Campus Students (n = 2400); 3) Commuters (n = 240); and 4) International Students (n = 125).  Using proportional allocation, determine the number of students to be surveyed from each stratum.  
Place “population” table here

Show calculations process here

Show “sample” table here
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